Standard Chemistry
Fall 2006 Final

Answer the following fully and completely using nouns, verbs, and ly-words to elaborate your path to solution.

1. What is the minimum that Sally could do to get a C for the semester? 
	
	MidTerm
1st Quarter
	1st 
Quarter
	MidTerm
2nd Quarter
	2nd
Quarter

	Overarching Process
	1
	4
	2
	

	7 Systemic Parts of Chemistry
	 
	 
	3
	

	Your Ability to Test
	1
	3
	2
	

	Science Fair
	3
	2
	3
	

	Journal
	2
	3
	4
	

	
	
	
	
	


2. Sn4+ combines with PO43- to form what?
3. According to the Law of Definite Composition, Sodium Chloride contains 23 grams of Sodium for every 35 gram of Chlorine.   Therefore, in 638 grams of Sodium Chloride there would be how many grams of Sodium?

4. What is the electrical charge of the nucleus of the atom
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? How many particles make up the exterior of the nucleus of this atom?

5. What is the mass number and atomic number of Lead-207? Give the isotopic notation.

6. A metal has three naturally occurring isotopes: mass 27.97693 accounting for 15.217%, mass 28.97649 accounting for 47.497%, and mass 29.97377 accounting for the rest. Determine the atomic weight of this metal.

7. What is the mass in grams of 3.01 x 1023 atoms of Gold?

8. Draw a molecule of Lime in Cabri Jr. or GSP and save it as FINAL.
9. Give the equation for the formation of a Phosphide ion.

10. Identify a naturally occurring element with the same number of neutrons and electrons.  

11. Give the formula for the anion of Thiocyanate.
12. Fill in the blank:

The ____________ contain protons and neutrons.
The ____________ of the elements is an organized chart of all known elements.
___________ have 8 valence shell electrons except Helium with 2 electrons.

___________ tell the ratio of elements as they are combined with each other.

Electrons travel in regions called ___________ around the nucleus.
13. Write the formula for Plaster of Paris.

14. Which contains more atoms of Hydrogen: twelve molecules of C2H5OH or six molecules of sugar?

15. Fill in the table below. Show your work.

	Substance
	Initial 
Temperature
	Final
Temperature
	Temperature
change
	Energy 
Transferred 
(gained or lost?)

	1.005 kg water
	23.1oC 
	33.3oC 
	
	

	water
	15.55oC 
	11.10oC 
	
	41.37 J

	12.07 kg 


	0.0521oC 
	0.170oC 
	
	547.9 J


16. Compare and Contrast these two images. Where do they come from? What is the Slit Width?
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17. A 2.511 kg bar of a metal at 177°C was dropped into a 555 g of water at 21.1°C. The final temperature of water was 45.5°C. Assuming that no heat was lost to the surroundings, what is the specific heat of the metal in J/g°C?

18. How many atoms in this compound? What are the diatomic molecules?
           7Na3Cl2(H2O)3S5N2O3CrO9(C3O)5
	Element
	Action
	Result

	Na
	Add three protons, Add five electrons, Remove 2 neutrons
	


19. What would you have if you made the following changes? Use element names.


20. Find the state of the given element and give images from your Periodic APP that will verify your determination.

	State
	Element
	Screenshot

	 
	Pb
	

	 
	Ne
	


21. Complete the table using your Periodic APP or the 50th Year of ChemEd table.
	Element
	Density
	Neutrons
	You Pick

	Tl
	
	
	

	
	7.21 g/cm3
	30
	1.55 = Electronegativity


22. We are interested in the amount of arsenic in 355 ml cans of Pepsi. There should be 0.0077 milligrams of arsenic in each can. Each can has a mass of 350. grams. If we perform a T-Test on the data collected from these cans, at what Level of Significance would you test? Why?

23. Determine the suggested ppm of arsenic in Pepsi cans from question 22.

24. Using the PEPSI list, perform a T-Test using the LOS from question 22. 25. Complete the following:
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